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QUESTION 1

Consider the following code:

var name = prowpt ("Enter your first and last neme"):
wvar firsthname = name.substr (0, namwe.indexof ("™ "))1;
alert ["Hello "™ + firstname) ;
var lastneme = nawe.substring(nawe.lastIndexof (™ "))
wvar initials = nawe.characterat(0) +

name . characterit (name. lastIndexot (" ") + 1) ;

alert(initials +
rr

; Those are great initials\nThanks for stopping by " +
firstname + " " + lastname) ;

What needs to be changed to allow this script to run without error?
A. Change the substring method call to substr

B. Change the substring method call to substr()

C. Change the characterAt method call to charAt

D. Change the characterAt method call to characterat

Correct Answer: C

QUESTION 2
Consider the following code:

war ir
for [(i=l;i — 10;i++)
{

documwent .write (i + ", "i:

What output will appear in the browser when you run this script?
A."1,2,3,4,5,6,7,8,9"

B.1,2,34,5,6,7,8,9, 10,

C.1,2,3,4,56,7,8,9,

D."1,2,3,4,5,6,7,8,9, 10"

Correct Answer: B
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QUESTION 3

Consider the following code: var v1 = "alpha"; function f () { var v2 = "bravo"; alert (v1 + ", " + v2); } f(); vi="charlie"; alert
(v1+", "+ v2); What is the expected result when you run this script in the browser?

A. An alert box displaying charlie, bravo

B. An alert box displaying alpha, bravo followed by an error

C. Two alert boxes displaying alpha, bravo and alpha, bravo respectively

D. Two alert boxes displaying alpha, bravo and charlie, bravo respectively, followed by an error

Correct Answer: B

QUESTION 4

Consider the following code:

<span id="myLink">
Il
</span>

What coes the following JavaScript function accomplish?

function ciwhink(){
war wyLink = document.getElementById( 'myLink') ;
wyLink.innerHTML = "<& href='http:/ wag. CIWcertified.com'>" + wyLink.innerHTML + "o/a>";

}

A. Replaces the text CIW with the text http://ww.ClWcertified.com
B. Replaces the text CIW with a link that reads myLink and points to the URL www.CIWCcertified.com
C. Converts the text CIW into a link that reads CIW and points to the URL www.ClIWcertified.com

D. Returns true if the content of the is a link to www.ClWcertified.com, or returns false if the content of the is not a link
towww.ClWcertified.com

Correct Answer: C

QUESTION 5

Consider the following code:

¢zcropt type="textsjavascript':

war HamePer=on = Jane Smith;
i1f (HamePer=son == "Jane Snith")
iwindow . alerti{"Hello" )}

glse{window alert("Goodbvae"):}
¢ozoTiph s
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What is the expected result when you run this script in the browser?

A. A window alert box will display Hello.

B. A window alert box will display Goodbye.

C. No window alert box will appear because there is an error in the code.

D. A window alert box will display Hello then a second alert box will display Goodbye.

Correct Answer: C
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